Solubiens i @Pb Sol l Y

-ﬁ)
t[r

&) F(/{) ff[r)e EF Av’ ../ jﬁfr)ﬁ(r r)dr'}e oAr

- A
._LL.(F'-FV/) - -5}

-—/5(” jA(r,me"‘% P}l —j;fzm flz/r’)é Arv}dr

.—Lé r’ ot - ..—r:'. . -
_—_/g’{r’)e [ hih e “ rd?’"} Ar? = QY)Y
b

Problem 7)

Tha PVHZM@K,L M%JD—V\MA_L_. 2AWell s 20 phourn Lilyro

L7 L
f(r)____ f "By AT - chL)Hw)e AL
(Zn)3 -3 ey Zn) » » -
beor Lk r : - "L"[':ﬁ)_a
:.__l__jgu) ft.me‘ YAl =L Az?'){ Gdoe 47 Y
Zn)3 (Z 3 - — o0

f (F) 9077 AP fﬂ(r")tl(y_ Y /

-l

Tt borre GoitsdoToon Bt Crp Oood A g WW For ¢xspl);
F (o) = /f/r)dr = ff/r)dr =Fle) = Glo)H(e) = (jﬁlr)olr )(fh(r)o"’

/4’90 7%)t Ty 5 jlr)*/q{r) ::./ﬂr)*g(r).

b Ifj(r)ma (/wén,amf,mn%r we wett huma F(E) = HE) L),
tohar GUL) = /j*/r“’)e"é Ar” a»m{f[") fh(r )J(V—")p/r’ o,
é/mVa[emr{/y) f(r) /A[r r’)?(}’")&’l’ MW 4""4‘/7"“’““"
20 Mw} méy w/)d;:f j(lf‘)rﬂx(r)n +j7(r)y +jz(r)3,é¢m~. af‘/’/7":f
How Aeelun Vertao o Mor Lonirlichin Hogrem b eacl, Componetel G

S’l‘mr'(‘/l/éj, % éolL 5(;’) 0—»-«/ Z:(;)) ole Uz&éz\fwﬂb‘)h\d% F’; e U;” At
) f{rf’):/mj;r‘f).f(,i ,77) Ar ;—_-> F[Z))z Gk H(L)
- o8

-

2 fiir=[ 5y x Vi 7 AF = Fb)= Glox Rdb.
-l



Mansuripur
Text Box
Problem 7)




